» i< LR PR

vy 45 -3EMARLC

H1200

2520 (B

KFTHO2028

BB (178

Qi% HA3

®

R3908s

®EE

118

™~

I~

O#FAN (1/8)

18
h
L BN .
@ T 0
2320
52 1103 10 1103 52
0 8
L @Hs§
® 1]
F ()
B 8
=]
a a 24
— N 1, 1 \\ I = N—
'} H L % -
| b EL W & J/p oF
(@)
: od /
HIR 1720
0450 £E20B

) BROARLIFSETETT,

NERFFA (110D

HE iRV B B (mm) it g i z

1 BAE 050x50xt3.2 STKR400 HENBRER (TEHY- &)
2 Ali%ey T t1.6 SGH HENRER (FhiEfin- &)
3 FEMR (RAD 50x 120 AB063S BRBILELKE

4 PRSI (GAD 50x 120 AB063S BRELEARE

5 FEME (24D 50x 120 AB063S BRBILEAKE

6 sl 14 25% 60 AB063S BRBLEAKE

7 HML AN t3.0 7V IRERBEAR -

8 v - F - IJAN- -

9 fEwn n— t2 A1100P 2%

10 Kivy 7 ¢ 16/ F40Y -

11 vy 5-5t LCyy-% - vy -8

12 SRfTL - b t2 ATYUA -

13 SERMTL -} t2 ATYUA -

14 EYYR té SPHC EREEE (TEfn- %)
15 kyy té SPHC HENRER (ThiEfin- &)
16 kY ISk $12 SGD ERidsin o &

17 gy 4x 20 ATYUA -

18 Eg 12 &l -

19 RUEZE 12.3. t3.2 SGH EREEE (TEfn- %)
20 BiR t2 ATYUA -

21 UKL Y - t1.5 ATYLA -

22 U $12 ATYUA -

23 EEL) t1.5 A6063S. EPDM -

24 B w b M10x 75 4.618% ERIEHD - &

25 ¥Ry M5x 10 ATYUA -

26 0 M4x 10 ATYLA -

27 b AR M5x 10 ATYUA -

28 " M4x 10 ATYUA -

29 2INLT 316 PVC -

30 F7A by N- H52 BS540 -

0F) BRARIBROLY. FELLKEET I LAHYVET,
BRER: v )y 553, BRFRERVETS,
Ny §-8 (7528 LCy ) - ZaTBAEZTO,
(Ky sty ¥64mm\ EES50mm) )
BEOBAE. RT3 -y VY I-%ITBAETD,




